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Question 1 

Use Laplace transforms to solve each of the following ODE’s. 

(a) 𝑦′′(𝑥) = 𝑒𝑥 + 2𝑒𝑥 ∫
𝑦′(𝑡)

𝑒𝑡
𝑥

0
𝑑𝑡        𝑦(0) = 𝑦′(0) = 0 

(b) 𝑦 = 𝑠𝑖𝑛(𝑡) + ∫ 𝑦(𝜃)cos(𝑡 − 𝜃)
𝑡

0
𝑑𝜃 

Question 2 

evaluate the given definite integral. 
 

(c) ∫ 𝑒−2𝑡. 𝛿(𝑡 −
𝜋

2
). 𝑡. 𝑠𝑖𝑛(𝑡). [𝐿−1(𝑙𝑛

𝑠

𝑠−1
)]𝑑𝑡

∞

0
        Hint : At first Find the inverse Laplace transforms. 

 

ans : 

(𝑎) 𝐿(𝑦′′(𝑥)) = 𝐿(𝑒𝑥) + 2𝐿 (∫ 𝑒𝑥−𝑡
𝑥

0

𝑦′(𝑡)𝑑𝑡) 

𝐿(𝑦)=𝐹(𝑠)
→      𝑠2𝐹(𝑠) − 𝑠𝑓(0) − 𝑓′(0) =

1

𝑠−1
+ 2

𝑠𝐹(𝑠)−𝑓(0)

𝑠−1
 →  𝑠2𝐹(𝑠) − 2

𝑠𝐹(𝑠)

𝑠−1
=

1

𝑠−1
           

→ (𝑠2 −
2𝑠

𝑠 − 1
 )𝐹(𝑠) =

1

𝑠 − 1
 →  (

𝑠3 − 𝑠2 − 2𝑠

𝑠 − 1
 )𝐹(𝑠) =

1

𝑠 − 1
  

→ 𝐹(𝑠) =
1

(𝑠3 − 𝑠2 − 2𝑠)
=

1

𝑠(𝑠 − 2)(𝑠 + 1)
 

→ 𝐹(𝑠) =

−1
2
𝑠
+

1
6

(𝑠 − 2)
+

1
3

(𝑠 + 1)
  
𝐿−1

→   𝑦 =
−1

2
+
1

6
𝑒2𝑥 +

1

3
𝑒−𝑥 

 

(𝑏) 𝐿(𝑦) = 𝐿(𝑠𝑖𝑛(𝑡)) + 𝐿 (∫ 𝑦(𝜃)cos(𝑡 − 𝜃)
𝑡

0

𝑑𝜃) 

𝐿(𝑦)=𝐹(𝑠)
→      𝐹(𝑠) =

1

𝑠2+1
+ 𝐹(𝑠)

𝑠

𝑠2+1
 →  𝐹(𝑠) − 𝐹(𝑠)

𝑠

𝑠2+1
=

1

𝑠2+1
           

→ (1 −
𝑠

𝑠2 + 1
 )𝐹(𝑠) =

1

𝑠2 + 1
 →  (

𝑠2 − 𝑠 + 1

𝑠2 + 1
 )𝐹(𝑠) =

1

𝑠2 + 1
  

→ 𝐹(𝑠) =
1

𝑠2 − 𝑠 + 1
=

1

(𝑠 −
1
2
)2 +

3
4

   
𝐿−1

→   𝑦 =
2

√3
𝑒
𝑡
2. 𝑠𝑖𝑛 (

√3

2
𝑡) 

 

(𝑐) ∫ 𝑒−2𝑡. 𝛿(𝑡 −
𝜋

2
). 𝑡. 𝑠𝑖𝑛(𝑡). [𝐿−1(𝑙𝑛

𝑠

𝑠−1
)]𝑑𝑡

∞

0
 
𝐿(𝑓(𝑡))=∫ 𝑒−𝑠𝑡

∞
0 𝑓(𝑡)𝑑𝑡

→                 {𝐿 (𝛿(𝑡 −
𝜋

2
). 𝑡. 𝑠𝑖𝑛(𝑡). [𝐿−1(𝑙𝑛

𝑠

𝑠−1
)]∗)

𝑠 = 2
  

∗
→ [𝐿−1 (𝑙𝑛

𝑠

𝑠 − 1
)] = [(

−1

𝑡
)𝐿−1 (𝑙𝑛

𝑠

𝑠 − 1
)
′

] = (
−1

𝑡
)𝐿−1 (

1

𝑠
−

1

𝑠 − 1
) = (

−1

𝑡
(1 − 𝑒𝑡)) 

𝐿 (𝛿(𝑡 −
𝜋

2
). 𝑡. 𝑠𝑖𝑛(𝑡). [𝐿−1(𝑙𝑛

𝑠

𝑠 − 1
)]∗) = 𝐿 (𝛿(𝑡 −

𝜋

2
). 𝑠𝑖𝑛(𝑡). (𝑒𝑡 − 1))) = 𝑒−

𝜋
2𝑠. 𝑠𝑖𝑛 (

𝜋

2
) . (𝑒

𝜋
2 − 1)

𝑠=2
→ = 𝑒−𝜋(𝑒

𝜋
2 − 1) 


